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 s = (a+b)(c+d)              صاحب الجرار  •
 

 ac   1s =             1الفلاح          
 

 bc   2s =             2الفلاح          
 

 bd   1s =             3الفلاح         
 

 ad   4s =            4الفلاح        
 

• = 3h2= 30000 m 1S 
 

         h9= 20000 m9=  2S 
 

         h6= 20000 m6=  3S 
 

         h2= 20000 m2=  4S 
 

     كلفة كل فلاح : •
 3x8500=25500 DA       1الفلاح     

 

 9x8500=76500 DA       2الفلاح     
 

 6x8500=51000 DA       3الفلاح     
 

 2x8500=17000 DA       4الفلاح    
 

 كلف صاحب الجرار •
 20x8500=170000DA: 1الطريقة      

 
 170000DA = 17000 + 51000 + 76500 + 25500:  2الطريقة      

 

 




